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QUESTION 1

Examine these commands: What is the expected result?

SQL> DESC ul.emp

Name Null? TYPE

EMP ID NUMBER
ENAME VARCHARZ (3)
SAL NUMBER
SQL> exit

[oracle@host0l ~]$§ cat emp.dat

1,Ben, 2000
2,Alan, 3000
3,Kevin, 4000
4,Sam, 5000

[oraclefhost0l ~]$ sglldr ul/cracle table=emp

A. It fails because EMP.DAT has some records with more than three characters corresponding to UL.EMP.ENAME.
B. Only the first row in EMP.DAT is inserted into U1.EMP.

C. Only the first and fourth rows in EMP.DAT are inserted into UL.EMP.

D. All rows in EMP.DAT are inserted into UL.EMP but ENAME is set to ### for the second and third rows.

E. All rows in EMP.DAT are inserted into UL.EMP but ENAME is set to NULL for the second and third rows.

Correct Answer: D

QUESTION 2
Which three types of files are created by expdp operations? (Choose three.)

A. SQL files
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B. dump files

C. reject files

D. log files

E. input data files

F. bad files

G. control files
Correct Answer: ABD

Reference: https://docs.oracle.com/cd/B28359 01/server.111/b28319/dp_export.htm#g1022624

QUESTION 3

Which two are true about the roles? (Choose two.)

A. All privileges and roles granted to a user are enabled by default when the user logs in.
B. The SET ROLE statement can be used once per session.

C. The SET ROLE statement enables as well as disables roles in a session.

D. A role must be disabled before it can be revoked from a user.

E. The ALTER USER statement must be used to set specific default roles for a user.
Correct Answer: AC

Reference: https://docs.oracle.com/cd/B19306_01/server.102/b14200/statements_10004.htm

QUESTION 4

A user complains about poor database performance. You suspect that the user\\'s session is losing time waiting for
events to complete.

You want to verify this.

Which view reveals on what events a session has spent time waiting in the past?
A. V$SESSION_WAIT_CLASS

B. VSSYSTEM_EVENT

C. V$SESSION

D. V$SESSION_EVENT

E. V$SESSION_WAIT
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Correct Answer: C

Reference: https://blogs.oracle.com/oraclemagazine/beginning-performance-tuning

QUESTION 5

Which three object types support deferred segment creation? (Choose three.)
A. partitioned tables

B. external tables

C. heap organized tables

D. clustered tables

E. index organized tables

F. temporary tables

Correct Answer: ACE

QUESTION 6

Your database instance was shut down normally and then started in NOMOUNT state. You then execute this
command:

AT.TEER DATABASE MOUNT;

Which two actions are performed? (Choose two.)
A. The control file is read.

B. The online data files are opened.

C. The online redo logs are opened.

D. The Oracle background processes are started.
E. The alert log records the execution details.

F. The initialization parameter file is read.

Correct Answer: AD

QUESTION 7
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Which statement is true about an undo tablespace created using the Database Configuration Assistant (DBCA)?

A. It contains undo only for uncommitted transactions.

B. It is used for the FLASHBACK TABLE...TO BEFORE DROP operation.
C. It can be recovered while the instance is open in READ WRITE mode.
D. It must be a smallfile tablespace.

E. Itis a locally managed tablespace.

Correct Answer: AD

QUESTION 8

Which two are true about Oracle recovery and data protection solutions? (Choose two.)
A. RMAN can be used to FLASHBACK a database.

B. RMAN can be used to roll back committed transactions.

C. Data Recovery Advisor can be used to restore a single file from an RMAN backupset.
D. Data Recovery Advisor can be used to validate backup strategies.

E. Oracle Data Guard can prevent data loss caused by a site failure.

Correct Answer: AE

QUESTION 9
The DATA tablespace uses Automatic Segment Space Management.

Examine this query and its output:

SQL> SELECT tablespace_name, pct_free

FROM user_tables
WHERE table_ name='EMP';

TABLESPACE NAME PCT_ FREE

DATA 10
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A block in EMP is 90% full.

At what percentage of free space will INSERT operations into the block again be possible?
A. 10%

B. 25%

C. 50%

D. 75%

E. 90%

Correct Answer: A

Reference: https://docs.oracle.com/cd/A57673_01/DOC/server/doc/SCN73/ch3.htm

QUESTION 10

In your database, you create a user, HR, and then execute this command:
GRANT CREATE SESSION TO hr WITH ADMIN OPTION;

Which three actions can HR perform? (Choose three.)

A. Grant the CREATE SESSION privilege without ADMIN OPTION to other users.
B. Grant the CREATE SESSION privilege with ADMIN OPTION to other users.

C. Execute DML statements in the HR schema.

D. Log in to the database instance.

E. Revoke the CREATE SESSION privilege from other users.

F. Execute DDL statements in the HR schema.

Correct Answer: BDE

Reference: https://docs.oracle.com/cd/B19306_01/server.102/b14200/statements_9013.htm

QUESTION 11
In the ORCL database, USER1 has unlimited quota on TBS1 and TBS2. The USER1.EMP table with primary key

EMP_ENO_PK resides in TBS1. USER1.EMP_IDX residing in TBS2 is an index on UL.EMP.ENAME. TBS1 is exported
from ORCL by using this command:

[oracle@host0l ~]% expdp system/oracle tablespace=tbsl
directory=exp dir dumpfile=tbsl.dmp
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The TESTDB database has a TBS1 tablespace but no TBS2. The SYSTEM user in TESTDB executes this command:

[oracle@host0l ~]$ impdp system/cracle directory=exp dir
dumpfile=ul.donp tablespace=tbsl

What is the result and why?

A. It imports EMP, EMP_ENO_PK, and the unique index associated with EMP_ENO_PK and EMP_IDX.

B. It imports only EMP, EMP_ENO_PK, and the unique index associated with EMP_ENO_PK.

C. It fails because TESTDB has TBS1.

D. It imports only EMP.

E. It fails because TESTDB does not have TBS2 to create EMP_IDX.

Correct Answer: B

QUESTION 12

Which action helps in applying the principle of least privilege?

A. disabling audit for users with system privileges

B. revoking all system privileges from the SYSTEM user

C. setting the REMOTE_OS_AUTHENT parameter to true

D. setting the O7_DICTIONARY_ACCESSIBILITY parameter to true
E. restricting access to directory objects in the database

Correct Answer: E

Reference: https://docs.oracle.com/en/database/oracle/oracle-database/12.2/dbseg/configuring-privilegeand-role-
authorization.html#GUID-A28E6A5D-4F06-4328-AF3A-58F6F4B66B28

QUESTION 13

Which two statements are true about the tablespace SEGMENT SPACE MANAGEMENT clause? (Choose two.)
A. It applies only to tablespaces with uniform extent size.

B. It overrides the DEFAULT STORAGE clause specified for a tablespace.

C. It specifies whether used and free extents are tracked using free lists or bitmaps.

D. It specifies whether users have direct control over space allocation for the objects in a tablespace.
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E. It applies only to permanent tablespaces.
F. It applies only to smallfile tablespaces.

Correct Answer: CD

QUESTION 14

In a database, the default temporary tablespace is TEMP and USER1\\'s default tablespace is DATA. Examine these
parameters:

NAME TYPE VALUE
TEMP_UNDO_ENABLED booclean TRUE
UNDO_MANAGEMENT string  AUTO
UNDO_RETENTION integer 900
UNDO_TABLESPACE string UNDOTBS1

Which tablespace stores UNDO generated by USER1\\'s DML on temporary tables?
A. DATA

B. SYSTEM

C. SYSAUX

D. TEMP

E. UNDOTBS1

Correct Answer: D

QUESTION 15

Yom database is in ARCHIEVELOG mode. The USER)! tablespace is online in read write and no error conditions exists
for any of its data files.

You want to take USERO1 offline so that all existing transactions involving objects in it can complete. What must yon
do?

A. Change its state to read only, and then take it offline with the temporary option.
B. Take it offline with the normal option.
C. Take it offline with the temporary option.

D. Take it offline with the immediate option.
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E. Change its state to read only, and then take it offline with the normal option.

F. Change its state to read only, and then take it offline with the immediate option.

Correct Answer: E
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